s ‘ ERo = 555 Division von Briichen ( richtiger Bruch ) ( unechter

Bruch )

Name: Datum: Ergebnis:
1.7_ 5.1
5 4 7 8
6.3 _ 2 7 _
8 8 3 2
S>3 _ 7.1
4 5 5 7
1.7 1.5
2 2 g8 3
3 4 7 .2
5 9 39
6 4 7 .2
5 6 34
6 1_ 6 3_
4 5 4 2
1.6_ 3.1
7 4 8 6
3.4 3.7 _
8 9 2 5
7.1 6 7_
2 8 4 3
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s n &l = 53 Division von Briichen ( richtiger Bruch ) ( unechter

Bruch )
Name: Datum: Ergebnis:
5 4 35 7 8 7 7
03 2. 7_4
8 8 3 2 21
5;3_25_21 7;1_49_94
45 12 12 5°7 5 75
1;7_1 1.5 3
22 7 8 3 40
3477 7,221 1
5 9 20 20 3 9 2 2
6.4_2_,4 7.2_14_ 2
5 6 5 5 3 4 3 3
6 1 15 1 6 3
o= — == —+ =1
4 5 2 2 4 2
1.6_2 3.1 9,1
7 4 21 8 6 4 T4
342 3715 1
8 9 132 25 14 14
28 4 3 14

www.snowmath.com


https://www.snowmath.com

